do / dA{R} [pb]

Ratio to CMS

10?

10

1071

1072

0.5

7000 GeV pp bb

1N L Y L L L R B s )
— = <
— . o
- A R(b-jets) (pTJIeaol > 120 GeV, hJIead| <3) 3z
B 3
I —]O
= <
= =
- s
I [ —
—
= | =Hm
— A 3 §
B u u - ./ \H\J e
B / \f“\ o
I / aAa —M
= 7/ =3
— A _] 8
— —™
o
= ® CMS =2
= —&— PythiaB7186 default %5
- Pythia 8.186 tune-1 15
= & ythia 8.186 tune-2c —=c
= r:’ythia 8.186 tune-2m 58
— -1 0
- 18
o
= —=o0
e AR S R U SO AU T T T TR O TR TR TN TN NN T N RN A H R = =

:l IIIIIIII | T T T T | T T T T | I:
— =2

: /“—-\f \_ :
/ | \ 1

o £ |

N

A{R} between two B hadrons
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